
Draw a picture to illustrate or explain in words the difference a comma makes to these pairs of sentences

 
 
 

 
 
 

 
 

 
 

 
 

 
 
  



 
ANSWERS 
 
The children are slow as they cross the road. 
Other people need to be slow because there are children crossing the road. 
 
Command to eat Daniel. 
Command for Daniel to eat something. 
 
The man is blue and has a beard. 
The man has a blue beard. 
 
The time travellers travel by bus. 
Travellers go on the bus, most of the time. 
 
Edward is tickling the boy with the carrots. 
The boy is holding a bunch of carrots. 
 
A command to explode the pipe. 
Blow air up the pipe.  

 
 


